HE HEI - HRL Joint Venture

L1DL
ITI\L

[ L, e ] PURCHASE ORDER HABIB RAFID (PYT) 10,
NTN - HEI - HRL JV : 7112662-7
STRN: 3277876113036
Purchase Req. No: 1477 Doc.Type :
Purchase Order No: 1477 Copies to:
PO Date: 03-Jul-2024 1. General Accounts
2. Material Warehouse

Customer: Shipping Address

Harbin Electric International Company Limited

House No 113 Gulbahar Block near Talwar Chok

Bahria Town Lahore
NTN: 0816461-4
Vendor: Note:

Name: Impex Power Solution Order number must appear on all documents and

packages pertaining on this order.
Add:  IRIS Bay, 2522 Business Bay
Dubai - UAE
NTN:
E-mail: info@impexpower.com
Tel: 00971 503183037

Quote Ref:  IMPS 2023-GEN QTN 100417 R1
Quote date: 01-Jul-2024
S. No. Lo Part Nunll:: Code/ Item Desmp""ﬁem Name Unit = Qty | UnitPrice (USD)  Total Value (USD)
1 HTCZ459045P0013 STEEL STRIP 125 X 0.2 Meter = 32
2 HTCZ459045P0014 STEEL STRIP 125 X 0.3 Meter = 22
3 HTCZ459045P0015 STEEL STRIP 125 X 0.5 Meter 16
4 HTCZ459045P0022 STEEL STRIP 140 X 0.2 Meter 60
5 HTCZ459045P0031 STEEL STRIP 140 X 0.25 Meter 30
6 HTCZ459045P0032 STEEL STRIP 140 X 0.4 Meter 40
7 D 326079P0011 BALANCE PIN M36- TX101/29 = Pcs 3
8 D 430321P0001 BALANCE PIN M24 X 70 Pcs 12
9 HTGD340384R0001 e ot & Set 1
10 HTGDA478868P0001 PULLING TOOL Pes 14
1 HTGD480086P1036 SWIVEL EYEBOLT M36 Pes 8
12 HTGD481614P0002 HEL-46-450 Pes 20
13 NB 312433P0466 HEX HD SCR M16X50 8.8/ZN Pes 32
14 NB 312450P0572 HEX HD SCR M24X80 A2-70 Pes 14
15 NBT 402605P0001 DB 202 Pes 20
16 NBT 403026P1221 H-HD SC FDP M24- TX80 GA Pes 12
17 TGD 326966R0004 GUIDE BOLT M42 X1180 Set 2
18 TGD 326983R0004 GUIDE BOLT M64X1900 Set 2
19 HTCZ459045P0004 STEEL STRIP 125 X0.15 Meter | 21
20 HTCZ459045P0021 STEEL STRIP 140 X0.15 Meter | 40
21 HTCZ459045P0023 STEEL STRIP 140 X0.3 Meter | 40
2 NBT 400646P0141 WIRE 1.5 C4D Meter | 30
23 1BSDO012166P007 SHIMS 210 Pes 4
24 AOGB14262P15 SHIM Pes 4
25 AOGB14262P16 SHIM Pes 4
26 AOGB14262P17 SPLIT SHIM Pes 4
27 AOGB14262P18 SPLIT SHIM Pes 4
28 HTGD231075P0007 SHIM 180, 0.1 THICK Pes 8
29 HTGD231075P0008 SHIM 180, 0.15THICK Pes 12
30 HTGD231075P0009 SHIM 180, 0.3 THICK Pes 40
31 HTGD231075P0010 SHIM 160, 0.1 THICK Pes 10
32 HTGD231075P001 1 SHIM 160, 0.15THICK Pes 20
33 HTGD231075P0012 SHIM 160, 0.3 THICK Pes 40
34 HTGD231105P0007 SHIM 80, 0.1 THICK Pes 10
35 HTGD231105P0008 SHIM 80, 0.15 THICK Pes 10
36 HTGD231105P0009 SHIM 80, 0.5 THICK Pes 20
37 HTGD231107P0005 SHIM 109X34 Pes 8
38 HTGD231107P0006 SHIM 109X34 Pes 8
39 HTGD231107P0007 SHIM 109X34 Pes 8
40 HTGD451801P0001 WASHERS D50 X0.10 pes 8
41 HTGD451801P0002 WASHERS D50 X0.15 pes 12
42 HTGD451801P0003 WASHERS D50 X0.50 pes 12
43 HTGD451802P0001 SHIM 0.10 pes 20

Page 1 of 3



44 HTGD451802P0002 SHIM 0.15 pes 20
45 HTGD451802P0003 SHIM 0.50 pes 20
46 HTGD451804P0001 SHIM 0.10 pes 20
47 HTGD451804P0002 SHIM 0.15 pes 20
48 HTGD451804P0003 SHIM 0.50 pes 20
49 HTGD451805P0003 SHIM 0.5 pes 20
50 HTGD345566P0003 SHIM T=0.15 pes 10
51 HTGD345566P0004 SHIM T=0.2 pes 10
52 HTGD385074P0024 SHIM 63*100%*0.1 pes 8
53 HTGD700506P0001 SHIM 1 T=0.15.MA pes 8
54 HTGD700506P0003 SHIM 1 T=0.2.MA pes
55 HTGD700506P0004 SHIM 2 T=0.2.MA pes 16
56 HTGD700506P0010 SHIM 2 T=0.15.MA pes 24
57 HTGD700506P0012 SHIM 2 T=0.2.MA pes 24
58 HTGD700506P0014 SHIM 2 T=0.15.MA pes 48
59 HTGD700506P0016 SHIM 2 T=0.2.MA pes 48
60 HTGD700506P0017 SHIM 1 T=0.15.MA pes 7
61 HTGD700506P0018 SHIM 2 T=0.15.MA pes 24
62 HTGD700506P0020 SHIM 2 T=0.2.MA pes 24
63 HTGD701060P0002 SHIM T=0.15 pes 32
. Full list of special tools for IBSEO05650R0002. (44 items)
1 1BSD006236R0002 CENTERING RINGPIST.SIDE set 1
2 HTGD702626R0008 CENTERING RINGGOV.S.CP set 1
3 TGD 326983R0004 GUIDE BOLT M64X1900 set 2
4 1BSE005650P0400 STRAINING SCREW1 1/4 Pcs 1
5 1BSE005650P0408 STRAINING SCREW1 3/4X18 Pcs 1
6 1BSE005650P3618 CABLE SLING36X1.8 Pcs 2
7 1BSE005650P3638 CABLE SLING36X3.8 Pcs 2
8 NBT 400487P2730 CABLE SLING27X3.0 Pcs 1
9 NBT 400487P2780 CABLE SLING27X8.0 Pcs 2
10 NBT 400487P3440 CABLE SLING33X14.0 Pcs 2
11 NBT 400487P5580 CABLE SLING54X18.0 Pcs 2
12 NBT 400487P6220 CABLE SLING60X22.0 Pcs 1
. Full list of special tools for IBSE005650R0004. (158 items)
1 1BSD005587P0016 ITH150 SEAL KIT Set 1
2 1BSD005588P0016 ITH150 SEAL KIT Set 1
3 1BSD005589P0016 ITH150 SEAL KIT Set 1
4 1BSD005591P0016 ITH150 SEAL KIT Set 1
5 1BSD005593P0016 ITH150 SEAL KIT Set 1
6 1BSD005595P0016 ITH150 SEAL KIT Set 1
7 1BSD005595P0017 ITH150 ASSEMBLYDEVICE Set 1
8 GMN 325913P0051 EYE BOLT M8 ST/ZN Set 1
9 HTGD231380P0062 SET SPARE SEALS Set 1
10 HTGD231380P0053 SET SPARE SEALS Set 1
11 HTGD231380P0057 SET SPARE SEALS Set 1
12 HTGD231380P0059 SET SPARE SEALS Set 1
13 HTGD231380P0051 SET SPARE SEALS Set 1
. Full list of special tools for IBSE005650R0006. (133 items)
1 1BSD000368P0001 CLAMPING PIECE pes 2
2 GMN 333103P0054 EYE NUT M16 ST/ZN pes 1
3 HTGD485636P0012 HEADLESS BOLTM16X200 pes 1
4 NB 312333P0412 HEX HD SCRM12X30 8.8/ZN pes 1
5 NB 315858P0565 HEX-S SCR M24X458.8/ZN pes 2
6 NB 312333P0613 HEX HD SCR pes 4
7 NB 312333P0619 HEX HD SCRM30X65 8.8/ZN pes 8
8 GMN 333103P0054 EYE NUT M16 ST/ZN pes 1
9 HTGD485636P0001 HEADLESS BOLTM16X150 pes 1
10 NB 332600P0015 HEX-NUT 0.8D M168/BL pes 2
11 NB 312333P0320 HEX HD SCR M8X708.8/ZN pes 1
12 HTGD494038P0002 SPEC. BOLT pes 4
13 HTGD494046P0002 SPEC. BOLT M24 pes 1
14 HTGD494202P0001 SPEC. BOLTM42X382 pes 4
15 NB 312333P8129 HEX HD SCRM12X90 8.8/ZN pes 1
16 HZN 452197P0020 HEX-NUT T1 M108/ZN pes 6
17 NB 312333P8034 HEX HD SCRM10X130 8.8/ZN pes 6
18 HZN 452197P0020 HEX-NUT T1 M108/ZN pes 6
19 NB 312333P8034 HEX HD SCRM10X130 8.8/ZN pes 6
20 GMN 333103P0053 EYE NUT M12 ST/ZN pes 1
21 HTGD458885P0003 ADLESS SCREWM20 X 330LENGTH | pcs 4
22 HTGD458885P0004 ADLESS SCREWM20 X 800LENGTH | Pcs 4

Page 2 of 3




23 HTGD458886P0005 HEADLESS S.M12X250 LENGTH pes 2
24 HTGD464329P0001 CLAMPING PIECE pes 1
25 HTGD464332P0001 HEADLESS SC. M16X320 LG pes 4
26 HTGD464332P0003 HEADLESS SC. M16X280 LG pes 4
27 HTGD464333P0001 HEADLESS SCREWM24 X 400 LG Pcs 1
28 HTGD464334P0001 HEX.JACKINGSCREW M24 X 340 pes 4
29 HTGD477808P0002 HEX.JACKINGSCREW M16 X 290 pes 4
30 HTGR415687P0005 HEXAGON 19/950 pes 1
31 NB 315856P0414 HEX-SOCKET SCR M12X40 8.8/BK pes 1
32 NB 315856P0466 HEX-SOCKET SCR M16X50 8.8/BK pes 1
33 NB 315857P0524 HEX-SOCKET SCR M20X90 8.8/BK pes 6
34 NB 315857P0579 HEX-SOCKET SCR M24X140 8.8/BK |  pcs 2
35 NB 332600P0115 HEX-NUT 0.8D M16 8/ZN pes 4
36 NB 332600P0116 HEX-NUT 0.8D M20 8/ZN pes 4
37 NB 335050P6110 WASHER A 13/24 ST/ZN pes 4
38 NBT 403026P1221 H-HD SC FDP M24- TX80 GA pes 2
39 NB 315857P0683 HEX-SOCKET SCR M36X180 8.8/BK |  pcs 1
40 NB 315857P0631 HEX-S SCR M30X160 8.8/BK pes 1
41 NB 315857P0629 HEX-S SCR M30X140 8.8/BK pes 1
42 HTGD485551P0012 PISTON RING FITTING PLIER set 1
43 126T9815G0001 Support for shrink ring removal & Pes |
reassembly
44 126T9815G0002 _ Support for shrink Pes 1
ring removal &'reas_sembly
45 127T0794G0001 Jacking stand for shrink ring removal Pes |
] & reassembly
46 127T0794G0002 Jacking stand for shrink ring removal Pes |
& reassembly_
47 127T0794G0003 Jacking stand for shrink ring removal Pes |
& reassembly
48 127T2547G0001 _ - I-stand for shrink Pes 1
ring removal & reqssembly
49 127T2547G0002 _ Istand for shrink Pes 1
ring removal & reassembly
50 127T2547G0003 _ I-stand for shrink Pes 1
ring removal &'reassembly
51 127T2547G0004 I-stand for shrink ring removal & Pes |
reassembly
52 127T2547G0005 _ I-stand for shrink Pes 1
ring removal & reassembly
53 HTCZ357727R0003 Shrink ring holder/stand Pcs 3

Total DDP Cost in USD (Including all app

Terms & Conditions
1 Payment Terms:
a) 100% Advance with confirm PO against the OA & PFI/Commercial Invoice.
Quoted prices are in USS and inclusive of all shipping costs, as well as customs clearance fees, import duties etc.
Delivery Incoterms: F.O.R Plant Site.
Delivery time will be 9 weeks from the date of receipt of the PO & Payment. In case of delay in the delivery due to import restriction

or delay in LC opening, the delivery time will be adjusted without any imposition of penalty.
5 The PO # 1477 issued based on your quote # IMPS 2023-GEN QTN 100417 R1 dated 01-07-2024, however, the contract will also be shared accordingly, if needed.

E VAT O]

6  Warranty as per OEM standards, the catalogue of all items/spares shall be shared by the vendor with shipping documents.

Prepared By

Page 3 of 3




